Flux

Deviation [sigma]

20

10

-10

-20

Deviation [sigma]

20

10

-10

-20

Deviation [sigma]

20

10

-10

-20

4U1705-44-JEMXX-MJID55969.276080_Ic.txt / MJID 55969.276088 / burstid=8637

f— Grey line: exponential fit Peak flux: 2.798+/- 0.382 c/s/cm® —f
E plack Ihe: power law * gauss it Fluence : 17.20+/- 2.31 clem’ =
- P Duration : 14.32+/- 2.93s -
- Best fit model: 1. -
= Best fluence model: 1. =
- Best duration model: 1. ]
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; Exponential fit é
= Expon.time: 3.83+/- 0.67 s (chi*red= 1.04) =
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; Power law fit é
= Power law index: -2.360+/- 0.330 (chi’-red= 1.03) 3
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—  Power law fit plus Gaussian (st.dev.= 17.72+/-10.40 s, fracgs= 0.28+/- 0.26) =
= Power law index: -3.244+/- 1.303 (chi’*-red= 1.03) 3
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